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{

Task: Data Enrichment

"proto": "tcp", "proto”: "tep®,
"service": "ssl",

"duration": 4.325414,

"timestamp": 1533888289171,

"srcip": "2a02:2al2:1500:3580:e575:1b16:a8c4:c800",

"dstip": "2001:1458:201:66::100:14",

"service": "ssl",
"duration": 4.325414,
"timestamp": 1533888289171,
"srcip": "2a02:2al12:1500:3580:e575:1bl6:a8c4:c800",
"dstip": "2001:1458:201:66::100:14",
"srcip country": "Switzerland",

"srcip org": "UPC Schweiz GmbH"
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Figure 2: DNS data enrichment flowchart




Advantages of being asynchronous
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Enter Go

go func(orig value []byte) {

keep, value := p.process.Process(orig value)
if keep {

processed := p.producer.Produce(value)
}

}(msg.Value)




Moving parts

Go impl. Spark impl.




Easy scale-out
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